





STATISTICS 2023 EXAM ONE FALL 1999 PAGE 3.
STATE THE ANSWER. State the answer on the line given. (3 points each)

. q er 8,7 20 Tha mrnrlo distribution of a certain a nlnahrﬁ test has a mean of 85 with a

N

standard deviation of 15. Whatis the z-score ossooated with the exam grade of 78? State
your answer with one digit past the decimal.
X =M 78 -6 5 -~
- —_— = - :—‘b‘ 4
5 3 21. The grade distribution of a certain algebra test has a mean of 65 with @
standard deviation of 15. What is the value of a student's exam grade if the z-score
associated with the grade is -0.8?

X=M+9,0‘= é5+(—.9)(/9): 53

A random sample of six Great Blue heron was chosen in Payne and Pawnee Counties of
Oklahoma. The standing height was measured on each bird. The heights recorded in inches

are stated below. Use this sample of standing heights of blue heron to answer the remainder

ofthe questions on this page. 46.8, 421, 499, 517, 442 482

?)z Dl Ll 22. What is the numerical value of the sum of the squares for the above sample?
P 2
Zx= .8 &+, 4+ ug2°= [% 402 43

8010 ég ' "‘ ! 23. What is the numerical value of the square of the sum for the above sample?
& 2-
&0 = (2224)" = 90,0%2. 4|
L}

.15 24. What is the numerical value of the mean of the above sample of heights?
Round fo two digits past the decimal.
Y= 2K 2829 .
n - & - 47.,

C‘W}/ 41,9 25. What is a numerical value for the median of the above sample of heights?
L& = > 1.5

420, %42 4. ug.z 499 5.7

3 d 67 26. What is the numerical value of the standard deviation of the above sample of
heights? Round your answer to two digits past the decimal.

S ‘\(Exq— B (%Y} |"§)L{O‘;)L{7)_ %0 .022.4|
. w — | = 6, = 3,66%'7
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STATISTICS 2023 EXAM ONE FALL 1999 PAGE 4.
STATE THE ANSWER. State the answer on the line given. {3 points each)

¢ 8 27. Two computers on the same network both function properly 92% of the time.
If one of the computers functions properly 96% of the time and the other computer functions
properly 94% of the time what percem ofthe fime is at least one computer functioning
properly? P(c nC)= .92, P(c,):-. P(Cz?)“ 74

U Co )[ = ‘i +,9 L{' 92 =
0 Q—I 28. Thlriy ﬁve percent of all drlvers have a vehicle accident. The probability that a

driver's automobile insurance goes up if he or she has an accidentis 0.6. Based on this
information what is the probability that an mdtwdual dnver WI|| ave cn accident and their

automobile insurance will incregse in price?

VAR RS VAT FAr T Al LRV R Wty ~

Aaaoéwzcalmm! ﬂAch d)a Plula) PA)= 6(35)

Five hundred Qk!g!(gmﬁ itgte Universi botit whether
or not they would vote for state legislators who support corporol‘e hog formlng. The students
were also questioned about whether or not they would be willing to move info a community
where the water supply was within three miles of a corporate hog farm. The results are
shown in the following fable. Use this tabie fo answer the remainder of the questions on this

page. Do not round fractions. Would vote for state legislators
who support corporate hog farming
Yes No
Would move info a community Yes 50 10 “;t b0
where the water supply is within three
miles of a corporate hog farm No 130 310 L‘H 0
s — oo

90~ T %0 220
900 99.If one student is chosen at random what is the probability that the student would
vog for state legislators who support corporate hog farms?

]%D 20, If the one student chosen at random would vote for state |nm¢|n?nrt: whao st unbort

R Wy arssinag ¥ arine

corporate hog farming what is the probability that the student would not move to a community
where the waler supply is within inree miles of a corporaie hog farm?
20
JFHD_31. Given that a student is chosen who would not move info a community where the
water supply was within three miles of a corporate hog farm what is the probability that the
student would not vote for a state legislator who supports corporate hog farming?

IS
32. What is the probability that if one student is chosen at random that the student
would not vote for state legislators who support corporate hog farms and would not move into
ﬁmmuniw where the water supply was within three miles of a corporate hog farm?

70 _33. What is the probability that if one student is chosen at random that the student
would vote for state legislators who support corporate hog farms or would move info a
community where the water supply was within three miles of a corporate hog farm?

F(SW"” % W’“"M)if)(%wmg *’F(ng" (S 0 w)
= %0 o _ %o _190
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